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Mt

SH44E9H1 28 (H)

6:550) (81 @ kg )
pHE i miEH o2 = B Z B " =

SE 218 T 208.4 358 100
THI 2,133.1 218 28
JUH LA 233.5 1,320 20
LSHLA 221.0 706 20
TFELSHLA 300.3 1,200 200
=EAHLA 656.5 277 20
RALA 179.3 789 569
<55 69.5 145 20
FAALY 416.8 1,300 193
FHA 30.6 512 20
TYUAYTAFA 635.0 230 20
7> 1,223.2 484 70
NFHS 117.1 50 20
TLIATH 44.6 28 20
ALY 62.4 5,225 519
G INY = 144.0 | 29,292 3,500 |on o
< ks 143.1 424 26
AEA 1,388.0 453 83
AXHHT 393.9 1,023 26
sH= 64.4 3,096 219
LA 103.5 | 19,000 1,272 [gn 2
ZILAA T3 311.9 520 359

I 9,080.1




[f¥fa] (BT : kg )
TRETRAE =V H =2 = 1B =] M =

SE 21& ZILAA T 355.0 4,300 2,169 ﬁz/f/s
e ?y%“C/S
7o 58 20.0 2,009 1,111 |G

=x47 22.4 550 100

£ T 7,754.7 710 50

FEF< T 40.9 1,690 600

aitus 17,273.1




€:E3::) (BT : kg )
SRR migE ® 2 5 1B Z B fm &

BEERXFRIE 838 |TJU 1,378.2 175 20
B X 90.7 1,931 450
RAAIH LA 54.5 1,759 200
oaoz> )4 25.3 1,400 861
_~ 170.1 467 150
>O0F 25.0 120 100
Nt 84.6 1,500 200
FAHA 30.2 419 250
HFHS 75.9 54 20
>0OX/)VUl 23.4 2,073 1,100
AP 72.8 1,746 900
AXF 961.0 1,572 739
JdEHAN 95.8 123 30
SFIA 136.7 3,529 1,129
TRIRD 34.6 1,506 30
ESWYXHZ 27.2 650 169
Y= 441.2 2,300 400

fInERME 34& >T R 14,059.3 680 30

BTl 6% Ry FHA 1,953.0 630 300

#}p 28 JU 25.3 188 110

INGHEE 18,295.9




[(&£) (BT ¢ kg )
JRETELE =V n = = 1B Z 1B B &
SHEE 21%
EEXRIFE 838 |Eo X 366.9 2,500 1,000
I5 A 21.2 2,000 400
XAXF 102.9 1,600 800
AERE 228 NSO 1,270.5 2,800 1,300
#D 28&£ E=5X 260.5 2,800 1,200
ho 18 <73 19.9 1,400 1,100

D
[ =]

T2

2,041.9




